ATTI ACCADEMIA NAZIONALE DEI LINCEI

CLASSE SCIENZE FISICHE MATEMATICHE NATURALI

RENDICONTI

PAVEL TALPALARU

Asymptotic behaviour of perturbed difference equations

Atti della Accademia Nazionale dei Lincei. Classe di Scienze Fisiche, Matematiche e Naturali. Rendiconti, Serie 8, Vol. **64** (1978), n.6, p. 563–571. Accademia Nazionale dei Lincei

<http://www.bdim.eu/item?id=RLINA_1978_8_64_6_563_0>

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.



Equazioni funzionali. — Asymptotic behaviour of perturbed difference equations. Nota I di Pavel Talpalaru, presentata (*) dal Socio G. Sansone.

RIASSUNTO. — Questa Nota riguarda alcuni problemi qualitativi sulle equazioni alle differenze e in particolare questioni concernenti l'equivalenza asintotica di queste equazioni.

1. Introduction

The theory of difference equations is in a process of continuous development and it is signifiant for its various applications in numerical analysis, physics, control theory and optimization. In recent years, considerable attention has been paid to the development of the qualitative theory for difference equations.

In this paper, we shall give some general results on the asymptotic relationship between the solutions of a linear difference equation and its perturbed nonlinear equation.

The relationship between the asymptotic behaviour of a homogeneous differential equation and a nonhomogeneous perturbation of that differential equation has been widely investigated. The purpose of this paper is to develop a part of those problems for some classes of difference equations. The problems considered in this article are in the general spirit of the investigations of the Author [5], M. Basti and B. S. Lalli [1] and T. G. Hallam [2], [3].

2. NOTATIONS AND DEFINITIONS

Denote by $N(n_0) = \{n_0, n_0 + 1, \cdots\}$, where n_0 is a natural number or zero; R^k the k-dimensional real euclidean space with norm $|x| = \sum_{i=1}^k |x_i|$, $x = (x_1, x_2, \cdots, x_k)$; M^k the space of all $k \times k$ matrices $A = (a_{ij})$ with norm $|A| = \max_{i=1}^{k} |a_{ij}|$. The identity matrix is denoted by E. We denote by $\Phi = \Phi(N, R^k)$ the space of all functions from $N(n_0)$ into R^k , that is, for each $n \in N(n_0)$ the value of x at n is $x(n) \in R^k$. The topology of Φ is the topology of uniform convergence on every set $N_m(n_0) = \{n_0, n_0 + 1, \cdots, n_0 + m\}$, $m = 0, 1, \cdots$ that is, $x_i \to x$ as $i \to \infty$ in Φ if and only if $\lim_{i \to \infty} |x_i(n) - x(n)| = 0$ uniformly on every set $N_m(n_0)$, $m = 0, 1, \cdots$ Note also that Φ is a locally convex space [8, pp. 24-26] with the topology defined by

^(*) Nella seduta del 13 maggio 1978.

the following family of seminorms $|x(n)|_m = \sup\{|x(n)|; n \in \mathbb{N}_m(n_0), m = 0, 1, \cdots\}$. We let $\Phi_1 = \Phi_1(\mathbb{N}, \mathbb{R}^k)$ be the Banach space in Φ of all bounded functions from $\mathbb{N}(n_0)$ to \mathbb{R}^k . The norm in Φ_1 is defined by $|x|_{\Phi_1} = |x(n)|_{\Phi_1} = \sup\{|x(n)|, n \in \mathbb{N}(n_0)\}$.

The spaces Φ and $\Phi_{\rm J}$ were considered by D. Petrovanu [4] in the study of discrete Hammerstein equations and by C. P. Tsokos and W. J. Padgett [7, Ch. V] in the study of random discrete Fredholm and Volterra equations.

We will be interested in establishing asymptotic relationship, between the solutions of unperturbed equation

$$(2.1) x(n+1) = A(n)x(n)$$

and its perturbed nonlinear equation

$$(2.2) y(n+1) = A(n)y(n) + f(n,y(n)) + g(n,y(n)), Ty(n)$$

where x, y are k-dimensional vectors, $A: N(n_0) \to M^k$ is such that A(n) is nonsingular for all $n \in N(n_0)$, $f: N(n_0) \times D \to R^k$ is, for any $n \in N(n_0)$ continuous as a function of $y \in D(D \to R^k)$, $g: N(n_0) \times D \times D \to R^k$ is, for any $n \in N(n_0)$, continuous in the last two arguments, and T is a continuous operator from $\Phi(N, D)$ into $\Phi(N, D)$.

Note that if X(n) is the fundamental matrix of (2.1), then it is the unique solution of the following matrix difference equation

$$X(n + 1) = A(n)X(n)$$
, with $X(n_0) = E$,

and also that $X(n) = A(n-1)A(n-2)\cdots A(n_0)E$, from which, since A(n) is nonsingular, follows that $X^{-1}(n)$ exists for any $n \in N(n_0)$. With respect to the operator T we can impose on it various meanings.

In the following we will be concerned with the study of the asymptotic equivalence of the equations (2.1) and (2.2). In this paper we consider the notion of asymptotic equivalence given by

DEFINITION 2.1. Let B (n) and C (n) be $k \times k$ matrices and $\alpha(n)$ a positive function. We say that the equations (2.1) and (2.2) are asymptotically equivalent if, corresponding to each solution x = x(n) of (2.1), there exists a solution y = y(n) of (2.2) with the property

$$(2.3) |B(n)y(n)-C(n)x(n)| = o(\alpha(n)), as n\to\infty,$$

and conversely.

Since our results are formulated in terms of arbitrary matrices B(n), C(n) and an arbitrary function $\alpha(n)$, they offer a greater versatility in obtaining various asymptotic properties for specific classes of discrete equations.

3. A PRELIMINARY RESULT

To establish our main result on asymptotic equivalence, we need to give a lemma which will be used in the following section. In Lemma 3.1 X (n), B (n), C (n) are nonsingular $k \times k$ matrices for $n \in N$ (n_0) ; P a projection and q satisfies the inequality $1 \le q < \infty$.

LEMMA 3.1. Let there exist a constant K > 0 such that

(3.1)
$$\sum_{s=n_0}^{n} | B(n) X(n) PX^{-1}(s) C(s) |^{q} \le K^{q}, \quad n \in N(n_0);$$

and suppose that

(3.2)
$$\sum_{s=n_0}^{\infty} |C^{-1}(s)|^{-q} = \infty.$$

Then,

$$\lim_{n \to \infty} |B(n) X(n) P| = 0$$

Proof. For any $n \in \mathbb{N}$ (n_0) we have $|C^{-1}(n) \times (n) P| > 0$ and therefore we may define $h(n) = |C^{-1}(n) \times (n) P|^{-g}$ and $g(n) = \sum_{s=n_0}^{n} h(s)$. Then, from the identity

$$C^{-1}(n) X (n) Pg (n) = \sum_{s=n_0}^{n} C^{-1}(n) B^{-1}(n) B (n) \cdot X (n) PX^{-1}(s) C (s) C^{-1}(s) X (s) Ph (s),$$

it follows, by using Hölder's inequality that

$$|C^{-1}(n) X(n) P | g(n) = |C^{-1}(n) X(n) P | \sum_{s=n_0}^{n} h(s) =$$

$$= |C^{-1}(n) B^{-1}(n)| \left[\sum_{s=n_0}^{n} |B(n) X(n) P X^{-1}(s) C(s)|^{q} \right]^{1/q} \cdot \left[\sum_{s=n_0}^{n} |C^{-1}(s) X(s) P h(s)|^{p} \right]^{1/p},$$

where $p^{-1} + q^{-1} = 1$. Since

$$|C^{-1}(s) X(s) Ph(s)| < |C^{-1}(s) X(s) P| h(s) = |C^{-1}(s) X(s) P|^{1-q}$$

we have

$$\mid \mathbf{C}^{-1}\left(s\right) \ge \left(s\right) = \left| \mathbf{C}^{-1}\left(s\right) \le \left| \mathbf{C}^{-1}\left(s\right) \le \mathbf{C}^{-1}\left(s\right) \le \left| \mathbf{C}^{-1}\left(s\right) \le \mathbf{$$

From here and (3.1) it follows

$$(3.4) \qquad |C^{-1}(n) X(n) P| \left[\sum_{s=n_0}^{n} h(s) \right]^{1/q} \leq K |C^{-1}(n) B^{-1}(n)|, \qquad n \in N(n_0).$$

From the identity

$$B(n) X(n) Pg(n) = \sum_{s=n_0}^{n} B(n) X(n) PX^{-1}(s) C(s) C^{-1}(s) X(s) Ph(s),$$

in an analogous manner, one can show that

$$(3.5) | B(n) X(n) P | \leq K \left[\sum_{s=n_0}^{n} h(s) \right]^{-1/q}, n \in N(n_0).$$

The conclusion of the Lemma will follow provided it is established that $\sum_{s=n_0}^{\infty} h(s) = \infty.$ To prove this, we observe that from (3.4) we have $|C^{-1}(n) X(n) P| [g(n)]^{1/q} < K |C^{-1}(n) B^{-1}(n)|$

and therefore $h(n) [g(n)]^{-1} \ge K^{-q} |C^{-1}(n)|^{-q}$. Since h(n) = g(n) - g(n-1) it follows that $g(n) - g(n-1) \ge K^{-q} |C^{-1}(n)|^{-q} g(n)$, from where,

(3.6)
$$g(n) \left[1 - K^{-q} \right] C^{-1}(n) B^{-1}(n) |^{-q} \ge g(n-1), \quad n \in \mathbb{N}(n_0-1).$$

If we use the well-known inequality $1 - u \le \exp(-u)$, from (3.6) one obtains

from where,
$$g(n) \ge g(n_0) \exp \left[K^{-q} \sum_{s=n_0+1}^{n} |C^{-1}(s)|^{-q} \right]$$
.

This inequality implies that $\lim_{n\to\infty} g(n) = \sum_{s=n_0}^n h(s) = \infty$ which yields the desired conclusion.

Remark. When B = C = E the condition (3.1) becomes

(3.1')
$$\sum_{s=n_0}^{n} |X(s)|^{-q} \le K^q,$$

(3.2) is satisfied and (3.3) becomes

$$\lim_{n \to \infty} |X(n) P| = 0 \quad \text{(Lemma, [6])}.$$

4. ASYMPTOTIC EQUIVALENCE OF (2.1) AND (2.2)

In this section we shall show that, under some conditions for a given solution x = x(n) of (2.1) there exists at least a solution y = y(n) of (2.2) such that (2.4) holds with $\alpha(n) \equiv 1$ and conversely.

THEOREM 4.1. Suppose that the following conditions are satisfied:

a) there exist two nonsingular $k \times k$ matrices B(n) and C(n) defined for $n \in N(n_0)$ such that

$$\mid \mathbf{B}\left(n\right)\mid \leq \mathbf{M}$$
 , $\mid \mathbf{B^{-1}}\left(n\right)\mid \leq \mathbf{M}$, $n\in\mathbf{N}\left(n_{0}\right)$, $\mid \mathbf{B}\left(n\right)-\mathbf{C}\left(n\right)\mid \rightarrow\mathbf{0}$

as
$$n \to \infty$$
, $\sum_{s=n_0}^{\infty} |C^{-1}(s)|^{-q} = \infty$, $q > 1$ (M is a positive constant);

b) there exist two supplementary projections P_1 and P_2 and a positive constant K such that if X(n) is a fundamental matrix of the equation (2.1) then

$$\begin{split} &\sum_{s=n_0}^{n-1} | \; \mathrm{B} \; (n) \; \mathrm{X} \; (n) \; \mathrm{P_1} \; \mathrm{X^{-1}} \; (s+1) \; \mathrm{C} \; (s+1) \; |^q \; + \\ &+ \sum_{s=n}^{\infty} | \; \mathrm{B} \; (n) \; \mathrm{X} \; (n) \; \mathrm{P_2} \; \mathrm{X^{-1}} \; (s+1) \; \mathrm{C} \; (s+1) \; |^q \leq \mathrm{K}^q, \qquad n \in \mathrm{N} \; (n_0) \; ; \end{split}$$

c) there exists a non-negative function $\omega_1(n, u)$ defined on $N(n_0) \times R_+$ non-decreasing in u and such that $\omega_1(n, a) \in l_p$ for each $a \in R_+$ and

$$|C^{-1}(n+1)f(n,y(n))| \le \omega_1(n,|y(n)|), n \in N(n_0), |y| < \infty;$$

d) there exists a function $\omega_2(n, u, v)$ defined on $N(n_0) \times R_+ \times R_+$, non-decreasing in u and v and such that $\omega_2(n, a, b) \in l_p$ for each $a, b \in R_+$ and furthemore

$$|C^{-1}(n + 1)g(n, y(n), Ty(n))| \le \omega_2(n, |y(n)|,$$

 $|Ty(n)|, n \in N(n_0), |y| < \infty;$

e)
$$|Ty| \le L|y|$$
 for $y \in D$.

Then, corresponding to each bounded solution $x = x(n) \in \Phi_1$ of (2.1), there exists a solution $y = y(n) \in \Phi_1$ of (2.2) such that

(4.1)
$$\lim_{n\to\infty} |B(n)y(n) - C(n)x(n)| = 0.$$

Conversely, to each solution $y = y(n) \in \Phi_1$ of (2.2) there exists a solution $x = x(n) \in \Phi_1$ of (2.1) such that (4.1) holds.

Proof. Let x=x (n) be a solution of (2.1) such that $|x|<\rho/3$, $\rho>0$ for $n\in N$ (n_0) and define the ball $B_\rho=\{u\;;\;|u|_{\Phi_1}\leq\rho\}$. For $y\in B_\rho$ we define the operator

$$\tau y(n) = x(n) + \sum_{s=n_0}^{n-1} X(n) P_1 X^{-1}(s+1) [f(s, y(s) + g(s, y(s), Ty(s))] - \sum_{s=n}^{\infty} X(n) P_2 X^{-1}(s+1) [f(s, y(s)) + g(s, y(s), Ty(s))],$$
for $n \in \mathbb{N} (n_0 + 1)$.

If we set $\varphi_{i}(n,s) = B(n) X(n) P_{i} X^{-1}(s+1) C(s+1), i = 1, 2, \text{ then,}$ $(4.2) | \tau y(n) | \leq \rho/3 + \sum_{s=n_{0}}^{n-1} |B^{-1}(n)| |\varphi_{1}(n,s)| |C^{-1}(s+1)f(s,y(s))| + \sum_{s=n_{0}}^{n-1} |B^{-1}(n)| |\varphi_{1}(n,s)| |C^{-1}(s+1)g(s,y(s),Ty(s))| + \sum_{s=n_{0}}^{\infty} |B^{-1}(n)| |\varphi_{2}(n,s)| |C^{-1}(s+1)f(s,y(s))| + \sum_{s=n_{0}}^{\infty} |B^{-1}(n)| |\varphi_{2}(n,s)| |C^{-1}(s+1)f(s,y(s),Ty(s))| \leq \sum_{s=n_{0}}^{\infty} |B^{-1}(n)| |\varphi_{2}(n,s)| |C^{-1}(s+1)g(s,y(s),Ty(s))| + MK \left[\sum_{s=n_{0}}^{n-1} \omega_{1}^{p}(s,\rho)\right]^{1/p} + MK \left[\sum_{s=n_{0}}^{n} \omega_{2}^{p}(s,\rho,L\rho)\right]^{1/p} + MK \left[\sum_{s=n_{0}}^{\infty} \omega_{1}^{p}(s,\rho)\right]^{1/p} + MK \left[\sum_{s=n_{0}}^{\infty} \omega_{2}^{p}(s,\rho,L\rho)\right]^{1/p} + MK \left[\sum_{s=n_{0}}^{\infty} \omega_{1}^{p}(s,\rho)\right]^{1/p} + MK \left[\sum_{s=n_{0$

By virtue of the properties of ω_1 and ω_2 (c and d) we may choose n_0 so large that

$$\sum_{s=n_0}^\infty \omega_1^p\left(s\,,\,\rho\right) \leq [\rho/6\mathrm{KM}]^p \qquad \text{and} \quad \sum_{s=n_0}^\infty \omega_2^p\left(s\,,\,\rho\,,\mathrm{L}\rho\right) \leq [\rho/6\mathrm{KM}]^p$$

and therefore from (4.2) it follows $|y(n)|_{\Phi_1} \le \rho$, which shows that $\tau(B_\rho) \subset B_\rho$. To establish that the mapping is continuous, fixe $\varepsilon > 0$, and select $n_1 \in N$ $(n_0 + 1)$ such that

$$\left[\sum_{s=n_1}^{\infty} \omega_1^p \left(s,\rho\right)\right]^{1/p} + \left[\sum_{s=n_1}^{\infty} \omega_2^p \left(s,\rho,L\rho\right)\right]^{1/p} < \varepsilon/2 \text{ KM}.$$

 $+MK\left[\sum_{s=0}^{\infty}\omega_{2}^{p}(s,\rho,L\rho)\right]^{1/p}$.

Suppose $\{y_i(n)\}_{i=1}^{\infty}$, $y_i \in B_{\rho}$, and $y_i(n) \to y(n) \in B_{\rho}$ on every set $N_m(n_0)$, m=0, I, 2, \cdots Then, for $n \in N_m(n_0)$ we have

$$\begin{split} \mid \tau y_{i}\left(n\right) - \tau y\left(n\right) \mid &\leq \left[\sum_{s=n_{0}}^{n_{1}-1} \mid \varphi_{1}\left(n,s\right) \mid q\right]^{1/q} \left\{ \left[\sum_{s=n_{0}}^{n_{1}-1} \left[\mid B^{-1}\left(n\right) \mid \mid C^{-1}\left(s+1\right) \cdot \left[f\left(s,y_{i}\left(s\right)\right) - f\left(s,y\left(s\right)\right)\right] \mid \right]^{p}\right]^{1/p} + \left[\sum_{s=n_{0}}^{n_{1}-1} \left[\mid B^{-1}\left(n\right) \mid \mid C^{-1}\left(s+1\right) \cdot \left[g\left(s,y_{i}\left(s\right), Ty_{i}\left(s\right)\right) - g\left(s,y\left(s\right), Ty\left(s\right)\right)\right] \mid \right]^{p}\right]^{1/p}\right\} + \\ &+ \left[\sum_{s=n_{1}}^{\infty} \mid \varphi_{2}\left(n,s\right) \mid q\right]^{1/q} \left\{ \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right) \mid \mid C^{-1}\left(s+1\right) \left[f\left(s,y_{i}\left(s\right)\right) - \left(f\left(s,y_{i}\left(s\right)\right)\right) - \left(f\left(s,y_{i}\left(s\right)\right)\right)\right] \mid \left[f\left(s,y_{i}\left(s\right)\right)\right] + \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right) \mid \mid C^{-1}\left(s+1\right) \left[g\left(s,y_{i}\left(s\right), Ty_{i}\left(s\right)\right) - \left(f\left(s,y_{i}\left(s\right)\right)\right)\right] \right]^{p} \right]^{1/p} + \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right) \mid \mid C^{-1}\left(s+1\right) \left[g\left(s,y_{i}\left(s\right), Ty_{i}\left(s\right)\right) - \left(f\left(s,y_{i}\left(s\right)\right)\right)\right] \right]^{p} \right]^{1/p} + \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right) \mid \mid C^{-1}\left(s+1\right)\right] \left[g\left(s,y_{i}\left(s\right), Ty_{i}\left(s\right)\right) - \left(f\left(s,y_{i}\left(s\right)\right)\right] \right]^{p} \right]^{1/p} + \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right) \mid \mid C^{-1}\left(s+1\right)\right] \left[g\left(s,y_{i}\left(s\right), Ty_{i}\left(s\right)\right) - \left(f\left(s,y_{i}\left(s\right)\right)\right] \right]^{p} \right]^{1/p} \right]^{1/p} + \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right)\mid \mid C^{-1}\left(s+1\right)\right] \left[g\left(s,y_{i}\left(s\right), Ty_{i}\left(s\right)\right) - \left(f\left(s,y_{i}\left(s\right)\right)\right] \right]^{p} \right]^{1/p} + \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right)\mid \mid C^{-1}\left(s+1\right)\right] \left[g\left(s,y_{i}\left(s\right)\right)\right] \right]^{p} \right]^{1/p} \right]^{1/p} + \left[\sum_{s=n_{1}}^{\infty} \left[\mid B^{-1}\left(n\right)\mid \mid C^{-1}\left(s+1\right)\right] \left[g\left(s,y_{i}\left(s\right)\right)\right] \left[g\left(s,y_{i}\left(s\right)\right)\right] \left[g\left(s,y_{i}\left(s\right)\right)\right] \left[g\left(s,y_{i}\left(s\right)\right)\right] \left[g\left(s,y_{i}\left(s\right)\right] \left[g\left(s,y_{i}\left(s\right)\right)\right] \left[g\left(s,y_{$$

$$\begin{split} &-g\left(s\,,\,y\left(s\right)\,,\,\mathrm{T}y\left(s\right)\right)]\,|^{p}\bigg]^{1/p}\bigg\} \leq \mathrm{MK}\,\left[G_{1}\,+\,G_{2}\right]\,+\\ &+2\,\,\mathrm{KM}\,\bigg[\bigg(\sum_{s=n_{1}}^{\infty}\omega_{1}^{p}\left(s\,,\,\rho\right)\bigg)^{1/p}\,+\,\bigg(\sum_{s=n_{1}}^{\infty}\omega_{2}^{p}\left(s\,,\,\rho\,,\,\mathrm{L}\rho\right)\bigg)^{1/p}\bigg]\,<\\ &<\!\mathrm{MK}\,\left[G_{1}\,+\,G_{2}\right]\,+\,\varepsilon\,, \end{split}$$

if we choose, according to (4.3) n_1 sufficiently large.

By the uniform convergence on $N_m(n_0)$, m = 0, $1, \dots, n_1 - 1$ of $\{y_i(n)\}$ it follows that $f(n, y_i(n)) \rightarrow f(n, y(n))$ and $g(n, y_i(n), Ty_i(n)) \rightarrow g(n, y(n), Ty(n))$, uniformly on this set, and

$$\begin{aligned} G_{1} + G_{2} &\leq \left[\sum_{s=n_{0}}^{n_{1}-1} (|C^{-1}(s+1)[f(s,y_{i}(s)) - f(s,y(s))]|)^{p}]^{1/p} + \\ &+ \left[\sum_{s=n_{0}}^{n_{1}-1} (|C^{-1}(s+1)[g(s,y_{i}(s),Ty_{i}(s)) - g(s,y(s),Ty(s))]|)^{p}]^{1/p} \\ &\text{as } i \to \infty. \end{aligned}$$

Hence $\lim_{n\to\infty} |\tau y_i - \tau y|_{\Phi_1} = 0$, that is, τ is continuous.

The functions in the image space $\tau(B_{\rho})$ are uniformly bounded for each n since $\tau(B_{\rho}) \subset B_{\rho}$. The equicontinuity of the family $\tau(B_{\rho})$ follows because the functions in $\tau(B_{\rho})$ are defined for a discrete variable n.

By Schauder's fixed point theorem we conclude that the mapping τ has a fixed point in B_p which is a solution of (2.2). To verify that (4.1) holds, observe that we have

$$(4.4) | By(n) - Cx(n) | \le |B(n) - C(n)| |x(n)| + H_1 + H_2,$$

where

$$H_{1} = \sum_{s=n_{0}}^{n-1} |B(n) X(n) P_{1} X^{-1}(s+1) [f(s, y(s)) + g(s, y(s), Ty(s))]|,$$

$$H_{2} = \sum_{s=n}^{\infty} |B(n) X(n) P_{2} X^{-1}(s+1) [f(s, y(s)) + g(s, y(s), Ty(s))]|.$$

Using c), d) and Hölder's inequality we get

$$\mathrm{H_2} \leq \mathrm{K} \left[\sum_{s=n}^{\infty} \omega_1^p \left(s , \rho \right) \right]^{1/p} + \mathrm{K} \left[\sum_{s=n}^{\infty} \omega_2^p \left(s , \rho , \mathrm{L} \rho \right) \right]^{1/p} < \epsilon/2 ,$$

for $n \in N(n_1)$, where n_1 is sufficiently large.

If we take $n_2 \in N(n_1)$ such that

$$\begin{split} \sum_{s=n_{2}}^{\infty} \omega_{1}^{p}\left(s\;\text{, }\rho\right) &< \left[\varepsilon/6\mathrm{K}\right]^{p}\;\text{, }\sum_{s=n_{2}}^{\infty} \omega_{2}^{p}\left(s\;\text{, }\rho\;\text{, }L\rho\right) < \\ &< \left[\varepsilon/6\mathrm{K}\right]^{p}\;\text{, }\mid\mathrm{B}\left(n\right)\;\mathrm{X}\left(n\right)\;\mathrm{P}_{1}\mid < \varepsilon/6\left[\sum_{s=n_{0}}^{n_{2}-1}(\mid\mathrm{X}^{-1}\left(s\;+\;\mathrm{I}\right)f\left(s\;\text{, }y\;(s)\right)\mid + \\ &+ \mid\mathrm{X}^{-1}\left(s\;+\;\mathrm{I}\right)g\left(s\;\text{, }y\;(s)\;\text{, }Ty\;(s)\right)\mid\right)\right|\;, \end{split}$$

then using our Lemma 3.1 we have

$$\begin{split} & H_{1} = \sum_{s=n_{0}}^{n_{2}-1} \mid B\left(n\right) X\left(n\right) P_{1} X^{-1}\left(s+1\right) f\left(s\,,y\left(s\right)\right) \mid + \\ & + \sum_{s=n_{2}}^{n_{2}-1} \mid B\left(n\right) X\left(n\right) X^{-1}\left(s+1\right) f\left(s\,,y\left(s\right)\right) \mid + \\ & + \sum_{s=n_{0}}^{n_{2}-1} \mid B\left(n\right) X\left(n\right) P_{1} X^{-1}\left(s+1\right) g\left(s\,,y\left(s\right)\,,Ty\left(s\right)\right) \mid + \\ & + \sum_{s=n_{2}}^{n_{2}-1} \mid B\left(n\right) X\left(n\right) P_{1} X^{-1}\left(s+1\right) g\left(s\,,y\left(s\right)\,,Ty\left(s\right)\right) \mid + \\ & + \sum_{s=n_{2}}^{n_{2}-1} \mid B\left(n\right) X\left(n\right) P_{1} X^{-1}\left(s+1\right) g\left(s\,,y\left(s\right)\,,Ty\left(s\right)\right) \mid + \\ & + \sum_{s=n_{0}}^{n_{2}-1} \mid B\left(n\right) X\left(n\right) P_{1} \mid \mid X^{-1}\left(s+1\right) f\left(s\,,y\left(s\right)\right) \mid + \\ & + \sum_{s=n_{0}}^{n_{2}-1} \mid B\left(n\right) X\left(n\right) P_{1} \mid \mid X^{-1}\left(s+1\right) g\left(s\,,y\left(s\right)\,,Ty\left(s\right)\right) \mid + \\ & + K \left[\sum_{s=n_{0}}^{\infty} \omega_{1}^{p}\left(s\,,\rho\right)\right]^{1/p} + K \left[\sum_{s=n_{2}}^{\infty} \omega_{2}^{p}\left(s\,,\rho\,,L\rho\right)\right]^{1/p} + \\ & + \left|B\left(n\right) X\left(n\right) P_{1} \mid \left[\sum_{s=n_{0}}^{n_{2}-1} \left(\mid X^{-1}\left(s+1\right) f\left(s\,,y\left(s\right)\right)\mid + \right. \\ & + \left|X^{-1}\left(s+1\right) g\left(s\,,y\left(s\right)\,,Ty\left(s\right)\right)\mid\right)\right] < \varepsilon/2 \;, \quad \text{for } n \in \mathbb{N} \left(n_{2}\right) \;. \end{split}$$

Consequently for sufficiently large n_2 we have $H_1 + H_2 < \varepsilon$ and $|B(n) - C(n)| < \varepsilon/\rho$ if $n \in N(n_2)$, and from (4.4) we obtain $|B(n)y(n) - C(n)x(n)| \to 0$ as $n \to \infty$.

The last statement of the theorem follows immediately. Let y = y(n) be a solution of (2.2). Define

(4.5)
$$x(n) = y(n) - \sum_{s=n_0}^{n-1} X(n) P_1 X^{-1}(s+1) [f(s, y(s)) + g(s, y(s), Ty(s))] + \sum_{s=n}^{\infty} X(n) P_2 X^{-1}(s+1) [f(s, y(s)) + g(s, y(s), Ty(s))].$$

By the same arguments, from (4.5) it follows that x = x(n) is a solution of (2.1) which belongs to Φ_1 and satisfies (4.1).

Thus the proof of Theorem 4.1 is accomplished.

Remarks 4.1. If we assume that C(n) is such that $|C^{-1}(n)| \leq M_1$, then c) and d) hold if $|f(n,y(n))| \leq \overline{\omega}_1(n,|y(n)|)$ and $|g(n,y(n),Ty(n))| \leq \overline{\omega}_2(n,|y(n)|,|Ty(n)|)$ for $n \in N(n_0),|y| < \infty$, where $\overline{\omega}_1$ and $\overline{\omega}_2$ are of the same type as in Theorem 4.1.

4.2. Conditions which assure e) in the particular cases when $Ty(n) = \sum_{s=n_0}^{\infty} K(n, s) h(y(s))$ and $Ty(n) = \sum_{s=n_0}^{n} K(n, s) h(y(n))$ are given in [7, Ch. V].

REFERENCES

- [1] M. BASTI and B. S. LALLI (1976) Asymptotic behaviour of perturbed non-linear systems, «Atti Accad. Naz. Lincei», LX, 5, 600-610.
- [2] T. G. HALLAM (1969) On asymptotic equivalence of the bounded solutions of two systems of differential equations, «Michigan Math. J.», 16, 354-363.
- [3] T. G. HALLAM (1972) On nonlinear functional perturbation problems for ordinary differential equations, « J. Diff. Equations », 12, 63-80.
- [4] D. Petrovanu (1966) Équations Hammerstein intégrales et discrètes, « Ann. Mat. Pura Appl. », 70, 227-254.
- [5] P. TALPALARU (1971) Quelques problèmes concernant l'équivalence asymptotique des systèmes différentiels, « Boll. U.M.I. », (4) 4, 164–186.
- [6] P. TALPALARU (1975) Asymptotic relationship between solutions of two systems of difference equations, « Bul. Inst. Polit. Iasi », XXI (XXV), 3-4, 49-58.
- [7] C. P. TSOKOS and W. J. PADGETT (1971) Random integral equations with applications to stochastic systems, Springer-Verlag, Heidelberg.
- [8] K. Yosida (1965) Functional analysis, Springer-Verlag, New York.